


1 0F3137 1 PAN CB CONN BOX
2 0F7655 1 STAND, R/H CONRTOL
3 0F7656 1 STAND, L/H CONTROL
4 023484N 1 BUSHING SNAP SB-2.5-31
5 0F4677 1 ASSY PCB INTERFACE 1PH 240V
6 022152 2 WASHER LOCK #10
7 023897 2 WASHER FLAT #10 ZINC
8 0C3990 6 SCREW PHTT M4-0.7 X 10 ZYC

  9 * 043365 REF. BLOCK TERM 20A 8 X 6 X 1100V
10 036943 2 SCREW PPHM #10/32 X 2
11 0C2428 2 SCREW PHTT #6-32 X 1/2 ZYC
12 029289 1 TAPE ELEC 1/2 FOAM (65.5” LG)
13 0A9457 1 DECAL NEUTRAL
14 057073 2 JUNCTION BLOCK 3/8-16

    15 ** 0D5466 REF. BUS BAR NEUTRAL BLOCK 390
    16 ** 0A7822 REF. LUG SLDLSS 600/250-1/0 X 1/4-28

17 022237 2 WASHER LOCK 3/8
18 022241 2 NUT HEX 3/8-16 STEEL
19 0E9764 1 RAIL SNAPTRACK PCB HOLDER BULK (6”LG)
20 0C2266 6 SCREW PHTT M5-0.8 X 16 ZYC
21 0C2454 15 SCREW THF M6-1 X 16 N WA Z/JS
22 042568 2 SCREW HHC M6-1.0 X 20 G8.8
23 022473 4 WASHER FLAT 1/4-M6 ZINC
24 022097 2 WASHER LOCK M6-1/4
25 049813 2 NUT HEX M6 X 1.0 G8 YEL CHR
26 0F0699 1 DECAL, SPARE OUTPUT
27 0F7475 1 DECAL, T-BLOCK H-100 CUST I/O
28 025433 1 LUG SLDLSS #6-14 X 13/64 CU
29 024469 1 SCREW HHTT #10-32 X 3/8 CZ
30 067210A 1 DECAL GROUND LUG
31 022158 2 NUT HEX #10-32 STEEL
32 0E9049B 1 ASSY PCB G-PANEL RELAY 12VDC
33 081008 1 GROMMET 1.25 X .25 X .75
34 077043J 1 CONDUIT FLEX 2.0" ID (36” LG)
35 0F6156 1 PLATE WIRE SNGL GALV
36 0F7038 1 HARNESS, CONNECTION BOX (NOT SHOWN)
37 0F4475 1 ASSY PCB IGN MOD 3.9/3.0/2.5L

  1) UL CIRCUIT BREAKER (FD)
A 0F4811 1 COVER FD CB STAND C3
B 065469 1 DECAL DANGER HIGH VOLTAGE
C 0D5573 1 CB 0175A 3P 600V S FD6 LL
D 0F0199 1 INSULATOR CB FD FRAME 30MIL
E 065960 4 SCREW SHC 1/4-20 X 4 G8.8 NZ
F 022473 4 WASHER FLAT 1/4-M6 ZINC
G 022097 4 WASHER LOCK M6-1/4
H 022127 4 NUT HEX 1/4-20 STEEL
J 0C2454 7 SCREW THF M6-1 X 16 N WA Z/JS

  2)
A 0D5466 1 BUS BAR NEUTRAL BLOCK 390
B 039287 1 SCREW HHC M8-1.25 X 45 G8.8 FT
C 022145 1 WASHER FLAT 5/16-M8 ZINC
D 022129 1 WASHER LOCK M8-5/16
E 045771 1 NUT HEX M8-1.25 G8 YEL CHR
F 022473 2 WASHER FLAT 1/4-M6 ZINC
G 022097 2 WASHER LOCK M6-1/4
H 0A8261 2 SCREW HHC 1/4-28 X 5/8 .625TH
J 0A7822 1 LUG SLDLSS 600/250-1/0 X 1/4-28

*  ITEM INCLUDED WITH HARNESS
** ITEM INCLUDED WITH 0D5464B


